TIG TORCH WP - 20

TEM Paridg | DESCRIPTION | ‘ORIGINAL REF. [ PACK | €/ea |
= WP-20.12RE38 | Torcia TIG WP-20 Ergon mL4 - 3/8'Gas mnemmmsrgmm 5 Gas 3 |l
WP-2025RE38 | Torcia TIG WP-20 Ergon ml8 - 3/8°6as - Complete TIG forch WP-20 Ergon mt8 36" Gas L
WP-20.12RED7 | Torcla TIG WP-20 Ergon mL4 - DINSE® 70 - Complets TIG torch WP-20 Ergon mt.4 DINSE® 70 | R
WP-20.25RED7 | Torcia TIG WP-20 Ergon mi.8 - DINSE® 70 - Complete TIG torch WP-20 Ergon 1 mt8 DINSE' 70 1
WP-2012 REC Torcia TIG WP-20 Ergon mt.4 - At Central, - Compiste TIG torch WP-20 Ergon mtd_ Central Connecion | 1 ||
WP-20.25REC | Torcia TIG WP-20 Ergon rnl! Att, Gantrnl. - Complete TIG torch WP-20 Ergon mL8 Centrai Connection |1 ||
WP-20.12 REEUT | Torcla TI6 WP-20 Ergon mt.4 - EUROTIG - Camplete TVG forch WP-20 Ergon mtd_EUROTIG Connecbion | 1 || _
WP-20.25 REEUT | Torcia TIG WP-20 Ergon mi8 - EUROTIG - Completz TG torch WP-20 Ergon mt.B EURDTIG Connection 1
|WP-20.12RELT | Torcia TIG WP-20 Ergon mi.4 - LTEC® - Complste TIG torch WP-20 Ergon mtd LTEC® Comnection |1 || |
WP-20.25RELT | Torcia TIG WP-20 Ergon mL.8 - LTEC® - Compiete TIG torch WP-20 Ergon mL8 LTEC” Connécbon | 1
Torches can be produced, on request, with: = M12x1 and 1/4" G connection = swilch 2 pn*‘q!mn" PAGE 171
KT9.16 | it 6l completaments 8 1,6 mm. - Addional k@IS mm. 1
KT9.24 | Kit di compietaments @ 2.4 mm. - Additonal kit 82,4 mm, 1
[kres2 | Kit di completamento 8 3.2 mm. - Addiional it@32mm. S P
WP - 20 1 [Copotorcia WP-20 - WP-20 torch head B WP.20 |1 _
WP - 20F 1a | Corpe torcia WP-20F flessibile ___yr-zumummad | we-20F |1
WP - 20 16| Corpo lorcia WP-20 diritia WP-20P penciltorch head WP-200 | 1 -
WP - 20V 1 | Corpa larcia WP-20V con valvola - WP-20V orch head with valve | WP-2ov |1
508882 14| tsslante inferiore - Torch body front insulier 508382 | 10
| ' = &5
] = |
| ! l
[13nz20 Pinza serraclettrodo @ 0,5 mm.-0,20° - Collet @ 0,5mm. - 0,20° 13Nz | 10 |
| |1§}E'21 | Pinza serraeletirodo @ 1.0 mm. - 040" - Collt @ 1,0mm. - 0.40° T :'594
-1 [1anzz Pinza serraclelirado 8 1.6 mm.- 116" - Collet @ 1,6 mm. - 1/16" 13Nz2 10 |
| 70066WT | Pinza serracielirodo 8 2,0 mm. - 4/64° - Collet @ 2,0 mm. - - [ 100 ]| ]
[ 1IN 23 | Pinza serraeletirodo 8 2,4 mm. - e - _[_‘.51_4_121 : ﬂ f24mm___:3,'__32' S 13N23 0 |
¥ [13N24 | Pinza serraelettrodo @ 3,2 mm. - 1/8" - Collet @ 3,2 mm. - 1/8° 13N 24 10 |
a ianzs Portapinza 8 0.5 mm. - 0,20° _ Collet body @ 0.5 mm. - 0,20° 1BN25 | 10 =
13u25 Porlapinza @ 1,0 mm. - 0, 40" - Collet body @ 1,0 mm. - 0,40° 13N 26 10 ||
13N27 | Portapiza® 16mm.- 1/16° - Collet body @ 1,6 mm. - 1/16° 13BN 10
m TOOGTWT Portapinza B 2,0 mm. - 4/64° - Colletbody @ 2,0 mm. - 4/64° o |
12N 28 Portapinza B 2,4 mm. - 3/32° - Collet body @ 2.4 mm. - 432 13N 28 0 |
,  [13Nm | Portapinza & 3,2 mm. - 1/5° - Gollet body @ 3,2 mm. - 1/8° 13N29 TR | =
(4 13N 03 | Ugelio coramica 6+, 4 B 6,0 mm. -1/ - Wuminacup G4 @ 6.0mm. - 14 1EN0E 10
13N | Ugella coramica Gr. 58 8,0 mm. - 516" - Auminacup Gc5 @ 8,0mm. - 516 13N 09 10
13 M 10 quﬂrucmnmbunnr 6@ 9,5 mm. - 3/8° - AMIMInG cup G6 @ 8.5mm, - 48" 13N 10 10
EED 13N | Ugella ceramica Gr. 78 11,0 mm. - 716" - Auminacup Ge7 @ 11.0mm.- 7/16° LELER 10|
13N 12 Lrlunlbut:nrmﬁlﬂaﬂr B@ 127mm. -1/ - Aumnacup Grd B 127mm.- 12 13N 12 0 | :
13N 13 uwmmuanr 108 17.5mm. - 58" - Aluminacup Gr. 10 @ 17,5mm. - 58" 13N13 10




MEM Partbl. | _ OESGRPTION i'ﬂﬂmw |PACK| [ €/ea |
S 13N14 | Ugello silicon mitride Gr. 40 6-1/4" - Sconniride- lvacup Gr406- 1/ | tawid | 10 |
13015 | Ugello silicon nitride Gr. 58 8-5/16" - Siiconnimide-lvacup Br5PB-516 | 1315 | 10 |
- ERELS Ugello gillcon nitride Gr. 60 9.5 - 3.!'&" ] - Silicon nitride - lava cup Gr. B a 9,5 - e 13N16 10
13N17 Ugslio siticon nliride Gr. 78 11- 1/16° - Sificon nitride - lavacup Gr. 7 B 11-1/16° | 13N17 m i,___
1308 Ugedlo :[ﬂpg_glmg_ur BB 12, T =172 - Siliean nilrids - lava cup Gr Tl 12 T-1 | 13Na | ——
13n18 Ugolia sificen nilride Gr. 10 8 17,5 - 5/8" - Sillcon ririds - lava cup Gr 10 0 17,5- 5/ | 1319 1n _]
5 ATHGFTD |Ugetic ceramica fungo Gz 385 mm. - Long Aliming cup Gr. 3 L=48mm. @5 mm, | A7eee7s | 10 | [
_ ATHEFT1 Ugello ceramica lungo Gr. 4 @ 6,0 mm. - Long Alumina cup B, 4 L=48mm. @ 6.0mm|  A766F71 | 10 | |
] ATIEFT2 ll!_rlrﬂn ceramica lungo Ge. 5 @ 8,0 mm. - Long. Alumina cup Gr, 5 L=48mm. & B,0mm. ATHEFT2 10
ATIEFTA |Ugeilo ceramica fange G § 8 9,5 ma. ~ Loy Al 6op B & L=48 e o95mm| ArseF7s | 10 | |
[ 45 v 42 | Portapinza Gas lens 8 1,0 mm. - 0,407 - Collet body GAS LENS. @ 1,0mm. - 04 | 4svaz | 10 |
a5V 43 Partapinza Gas lans B 1,6 mm. - 1/15° - Cobet body GAS LENS @1,6mm. - 1/1 a5va3 | 10 || 5
w TO05E Fortapina Gas lons § 2,0 mm, - 6/54° - Coled body GAS LENS @ 2,0mm. - a4 | 0 | |
: BV Fortapinza a’-:‘i‘ﬁ'i““iﬁ.l_imr ~ Tt body BAS LENS B 2 4mm, - Hag sva | | |
AV as Portapinza Gas leis 3,2 mm. - 1/8° - Calet bady GAS LERS 0 3,3mm, - /8" HsVaE | o || |
7 : 5a N 5a ‘mnmhmnm I3 _@1"@75"%“ GraB6mm- 1 | sanss | 10 || |
E3 NS0 mqptmﬂﬂmﬂamwﬂ_ﬂ' ﬁ.ﬂ.ﬁtENSMﬂ&rucup Gr, 58 Amm.- 5_|"IB' 53 M 59 BT
| SaNED waﬁmuumu.sm - - BAS LENS Alumina cup_Gr 6 8 8,5mm.- 45" 53N60 | 1w
52 NG Ugelo ceramica Gas lens B 11 mm. - 1/716" - GASLENS Aluminacup Gr 78 1imm-7/16'|  53N61 | 10
7 [ saNsBEN _ﬁimmnimlmmuulu-u " - Gaslens cup slicon nitde GrA B .- 14" ' 0|
53 N 508N llnlﬂn Gins lone silicen nilride G5 B B- 616" - Gas lens cup silicon nilride Gr.S @ 8- 016 T :
EIEE mg-lnnu:nmmﬂmmn_g,s i - EuMumpnﬁ:ﬂﬂm&ﬁiﬁ.ﬂ-W el |
i 5 53N 61 3M  Ugalio Gas lens siicon nitride Ge7 0 11- /18- - as lans qup sifcon niinde 67 8 11- 7116° w [
B . 54N63-20 | Isolants G, fens LG. diom. - Insulator Glens LG.diam. ) [senez-ee | 10 |[ |
[j [} I — e i
I L . == I | F—— |
a 13N21L | Pinza gas lens farg diam © 1- 0,40° - LG diam, gas fens collet @ 1 - 040 R '
A d3NzzL | Pinea gas lens larg dlam 8 1,6- 1/16” - LG, diam. gas lens colee D 1.6 - 116" | ianzzL | 10
] | faMEEL Pinza gas lens larg diam 8 2,4 - 3732 = LG, diam, gas bens collet @ ZJ&EZ'_  hawzaL 10
1@3‘!?51; __| Pinza gas lens karg diom B 3,2 - 1/8" - LB, diam, gas lons coleL B 3.2 - 1/3" 13N24L | 10
10 - '_f 45V020MS Portaginga gas lens large diam © 1.0,40° - LG. diam. gas lens collet bocy @ 1-0.40° | 45v02045 | 10 | ]
: 451168 _irnwmmmhmm 2 16118 - L. diam. gas lenis coliet body @ 1.6-1/16° | 451185 | 10 | | |
AEVES ' Portapinza gas lens large diam 8 2,433 - L. dlam. gas lens collel body B 2.4-3/32° 45VE4S | D '
8957955 | Portapinza gas lens large diam 8 3.2-1/8° - 6 "".E&!!PJ‘:EE.‘.‘PE‘W’?“ 2w | wgsress [ w0 |f |
1 . 5TNTS Uigello ceramica G. lens farge diam. Gr8 -8 9.5 - Almina cup G. lens farge diam. Gr6 0 85 | 57w75 | 10 | |
ll . BTNT4 il.mumnmm Iens farge diam. Gra - B 12,86 - Alumina cup G. lens lage diam. Gré @ 128 |  &7INT4 | 10
5INEE i Hulh:urlmln lens large diam. ﬂr_‘m a 16,0 - Alumning cup G. lens large diam. G0 B 1E|:| _ 57MBs 10
| samsr ‘Lmummmu lens larga diam. 6r12 - @ 19,0 - Alumina cup G. lens large Gam. G128 180 S7NG7 | 10 4
11a | STN7SSN | Upello 6. bens targe dism. Siicon nitride Ge5-09.5 - Gasiers cuplens farge e, shcon e G5 095 | o]
G5INT4 5N r!indhﬂ fons large dism. Sllicen nitride GrB-@128 - Buhﬁunmmdunﬂ_ﬁﬂ"nﬂga&a ;e 1 10| =
_53NBE SN | Ugedlo G. fenz large diam. Silicen nitride Ge10-816,0 wmmm silicon niride G210 MED 1108 & I
i S3NET SN | Ugetio . kens large diam. Sifican nitride Gr.12-818,0 mmumwmmmmzmn IEFE T
% 41V 24 [CoppelioMolungo -Longback cap aiva [ w ||
< _ 41V 35 | Cappeliatio modia - Maediurn back cap d1vas | 1o
o £1val | Cappeliotip corto - Shoet back cap 41IV3S | 10 |
13 o G8W77 | O-ting por cappeloits "~ G-fing for back can SwWi7 | 10
4 - 14a ) It == 1 d v ]|
i ';l._?_.u; Impugnatura ergonomica = - Ergan Hardle wissrows [ I :
- TG00 Viti di complatamanio - Addilional screw T
TG.0021 Ridutione wmﬁi‘ﬁr_ﬁu - Reduchion for WP-20725 torch heads | i |
ey — — —|
158 as 76,003 Micro 1 posiziona Micra 1 pasition . |
7 T6.0021 Micro 2 posizione - Micro 2 positions fon-off) | ot | B
I — TG.004 Putsanta 1 posizione - Switch 1 position N .
16a  — TE0041 | Pulsants 2 posirione - Switch 2 positions (on-off) I == [Easse
| 16,0047 __| Pulsanie lungo _ - Long switch i — N |
0 - . TG.005. | Sfera e ghiere per impognatura - Jaint and ring | =
= =) [Er|
s i Es— } — |
[- A5V03,12 Gawa porta corrente mt. 4 term. 386G - Power cable mbd  3/EG connection 45W03.12 i
| 45v04.25 | Cave parta corrente ML 8_term. 3/8°G - Powsrcable mLB A/8°Gconnecion | 45V04.25 i
| TG.200.19 Cavo porta carrents mt. 4 term. M12x] - Powercable mi4  M124 connection | g [ |
|_TG.200, [ correate mL. 8 lerm. M12x1 - Powergable mt 8  M1Zcl cornecton | | i |,,_ -
s |
LHEL
" e | l—
s |
TG.200.21 Paccocavl mt 4 term. 3/8° G - Compiete cable ml. 4 3/8°G connection | 1L )
TE.200.22 | Paceo cavi mk. 8 term, 378" 6 - Complete cable ml. 8 3/B°G connection | It |
 TG.200.23 Pacco cavl mi 4 lerm, M12x1 - Complete cable mt. 4 M12x1 connection) [
= T6.200.24 | Peccocavi ml § term, Mi2x) - Complets cable mt. 8 M12x1 conriection| B =|




